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PAPER - I (GENERAL PAPER) .

The limwiu.u1 > in the years 2019
and fom o F‘Eﬂe,'hf“"" the percentage (%) distribution of the number of readers of an T M .

fors m‘ 8 the six different citios A-F. Based on the data in the table, answer the questions that In‘ll

H BE = it el A & ad 2019 @ 2028 4 v mﬂwﬁmtm-nmwml ) faaT™

TR e A v e & s s g W % T A y

City-Wise Details of Number of IT Magazine Readers/ 3
et ofyw ) & wEwi ) dem w1 wer-an feam

City/ Percenta ge of Readers in Year/
1 - _
' 1 o gt % ufavA
st (2019) (2023)
£ oo A 10% 15% (Y %5®
---'-'-'_.-.-—’
{ve B 4% 16% \WWXie
( C 17% 3l 28%
! :
o oo D 9% A24qe0 10% (1 qo=° . .:{_f?
E 24% 82 9% o .
F 26% 2% A
Mgl

1.  Ifthe total number of readers from all the'six cities A-F together in the year 2023 was 50,000, then the
readers was more than 7,400 in exactly cities in the same year.
ofz il B T A-F F1 foeme 2023 H W #1 Fe 5@ 50,000 41, A 36 A S-S feey e | wew 1

HEI1 7,400 B Hiuw ot 7
m 2 @ 3 {3)/4 4 5

2 If the total number of readers from all the six cities A-F together in the years 2019 and 2023 were
4.3 lakh and 5.7 lakh, respectively, then was the difference between the total number of readers from

and City-C together in the years 201 |

ay I.lﬁllﬂla (2 1415 lakh (3) 1.625 lakh (4)  1.596 lakh

afz Tt BF TET A-F A EE S T 5G4 2019 31T 2023 F FEN: 4.3 ¥ 3 5.7 FE o, @ e
 CRATEE #2019 F F HEAM A 2023 T F WA F A= W 3w e en?

1175 &1 (2 141579 () 1.625T4a (4) 159 ®rE
Lo

ty-A in the year 2019 to that in 2023 was 2 5, then what was the
wmmym_mumummmz?.? .
(i 202 ._bmtmz:su.ﬂlwwﬂ#wﬂ
_I g ' "
~4:9 @ 2:5

the y znmmm-mn /14,000 respectively, A,
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If the number of readers from City-Cin the year 2019 and that from City-E in the year 2023 m__m-d

w in zmw;: then the number of readers from City-B in the year 2023 was approximately W
’“ﬁ""lﬂlﬂmcﬁ #2023 F I E R wr ) wen R 73,100 7 51,300 9, A T B A 2019
TSR] F e | A 2023 ¥ W w1 gen amm % sifirr ot |
8, .7 Ja/ 50.3 (@) 528 4) 515
Match List - I with List -1 . ‘J
List-1 -
3 o= AL
(Abbreviation) (Meaning) P Pl g e
A et D in the same place
; B. ante., D and others
= C d : i) before
g Vi) compare
[Eil-1 5 =9 -1 F1 firerm ifao -
Tet-1 -1
( i =) (z14)
etal, I SH®EET
ante., n =
o, ur | e
D. ibid, Iv, ) ge
" Choose the correct answer from the uph‘ﬁi?_;:‘givm below :
5 fou v famedi § 1 WE I F T K0 ;
(1)  A-LB-IL G-I, D-IV (Y & ALLBILCIV,D

A"] V [l B']Hr C’III D"']

()@

(3) A-ILB-IV,C-LD-Il

Nm—-— B, D and E only .,_,,.;
tmmﬂmmmamm%? |

..... _:_... : i * I;- ) - p m m
3 el ” - | J‘ 1-:
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Choose the correct statements -
A x‘.’nfyisma]my%oﬁ{lﬂt.
-
' ol = S ber is equal to 330,
B “Mﬂﬁﬂﬂn{[%Jufa number is 504, then 25% ﬂf[5}°fthalnum - o=l =2
C  IfAis15% mnmﬁan B, then B is ~13.04% less than A."—" A=" (™
D.  10% of 5and 5% of 10 add-up to 0.1< 'ﬁ ape
Choose the correct answer from the options given below : ) ¢ " =%
@~ AandBonly (2 Band Conly (3) CandBPenhy- (4) ~AandDonly:

T Fo 15

A Yy % 100x F g% FaTaT ¥ o :
B ﬂﬁﬁm’tm#[%} I 60°% F 40%, 5048, ﬁTEﬂH‘@T#G] T T 25%, 350 F T E 9y
C  ARA BHI15% sifum 2 1B, A & ~1304% F1 £ )‘Eﬁ'
D. 5% 10% 99 10 % 5% #1 am 01 & 1%
A fan o et F @ wlt v = ;"{f

(1) &a@ A 3B 2) FE@EBsRC @) FEEC D 4) FAAARD /"!-/

Which fallacy is committed in the following statement ?

“People with cases of flu should be keptin quarantine, because it has never been disproven as the best means of
keeping the disease from spreading.”

(1)  Appeal to Ignorance (2) I?falt}' Generalisation
(3L~ Shippery slope (4)  False cause
frtferfea Fom o #17 w ad 4 ffea 22

--ﬁammﬁmﬁm-ﬂma@ﬁﬁﬂsﬁﬁnaﬁaﬁﬁmmﬁw#mﬂmm
farm wn &1

(1) A af (2) Hfarnfia AR ary(FS—
@ Trwem g3 o @) fRenFmm }ﬁ"/ﬂ/‘;
A motor boat covers certain distance downstream in 5 h but takes 6 h to return upstream to the starting point. If

the speed of the stream be 4 km/h, then what is the speed of the motor boat in still water ?
(1) 40km/h @y 42km/h (3)  44km/h @ 46km/n ¥

TF T2 F1 4 %1 fagdm
A 1 &

.......



Which of the following is the National Coordinator of SWAYAM courses for non-technical pﬂ!l’-gl'ldtllﬁ*
education !

(M All India Council for Technical Education (AICTE)

(2)  National Institute of Technical Teachers Training and Research (NITTTR)

(3) National Council of Educational Research and Training (NCERT)

W University Grants Commission (UGC)

ferfefian 9 ®19 -awra) vo-wme fown ¥ @ ged w1 T geerE (weteaer) §7
(1)  sfas vt st -fosn fore (v amé 5t 4 )

(2) O AT foeres- winer uA vy Hem (v s E A oA

(3) T Al v vE wiwe gftee (v ot § e d)

(4) favafgmem sEeE smm (g 5t o)

Match List - 1 with List - 11

List -1 List - 11
(Ancient Treatises) (Author)

A Lilavat e | Chanakya

B Yoga-Sutras - I1. Gautam

C Ny ava - Sutras || Patanjali

D Arthashastra AY Bhaskaracharya

qet-1 % |y ge=t- 11 F1 fuem Fifem
i g1

( e T ) (T )
A EieEd l Rkl iy
B dm-gx L s
¢ 14 -HA I ERE )
N YIS I Cle=mie ol

Choose the correct answer from the options given below

714 T2y mu fasedl o @ wlt 39 = = Fif

Uy A-IV,B-I, G-I, D1 (2) AL B-IV,C-IL DI

(3) ANABIEED (4)  ALBIL G DY

What is the full form of POPs 7
-J-J_'*"*' Persistent U"Hd”i_'- Pollutants (2)  Persistent Oxygenated Pollutants
() Polyeyclic Organic Pollutants (4)  Polymerised Organic Pollutants

41 &0 b (POPs) 1 Y1 9 &1 8 7
(1) wfdez smifaew degeen () i iR Yo
(3)  wferafEEE st ey (4) e s degden

Arrange the following fractions in ing reasing order

fore fur=if 1 wgh ww A =aEfas #ifa |

6, u 2l 1o ).
A FE el b o7 ?n?ﬂ ¢ ';'Efn Lol e 22
Choose the correct answer from t.'llt4n|11um.u given below A :;- :.LIL 22
4 for o el & @ Wl 39 w0 g 41 3N

= . ‘)'.I
() ABCD (2) D.C,BA @ CBAD M

C <t0 @) DABC
5
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Match List - I with List - 11

List-1 List-1I
{Use) (Appropriate Computer Input Devi
A To input voiceovers for a presentation L Mouse
B. Toinputa PIN . . """--_JH Joystick
> To select options from a menu — =5 [l Microphone
b Tooperate a flight simulator_—— [V. Number pad

-1 % e geit-11 1 fiar Fifaw .
s i e 11

( warT ) ( Iuge &wgey e gie )
B = e w03 % faw 1l EIpit=Ea
C 4 1= & fawedl 71 993 & fam L HEHGH
D. WEZ SRS F wEierd w03 F fau Iv. "9z
Choose the correct answer from the options given below :
ﬂ%mwﬁm‘mﬁﬁﬁnﬁwmwﬁhﬁ: ;
(1) A-IL B-IV, C-1, D-III “f‘.!T"f ,:\-II[. B-1V,C-I, D-11
(3)  A-IV,BIL,CLD-II (4)  A-LBILCI,D-IV

A device used to l-um.-L-[tﬂEl_lor‘a_djgilalmﬂnal to an analogue signal for communication js called a :

-

(1)  bridge {2 modem
{."?b : switch (4) Network Interface Card (NIC)
5N g ot Fogzn ¥ fefaea a1 ffe smen (vamim) 5% 5 =iaf w4 % o wga gfam waemt 2 ;
my f= 2) HisH
@) fE= (4) FEEH HaUTS F2 (U 47E i)
Match List - I with List - I1.
List-1 List-11
(Digital Initiative) (Purpose)
A Shodh Sindhu L Hosts synopsis of research topics in Indian Universities
B Shodh Gangotri ﬂl. Free/Libre and open source software for Fducation
C Shodh Shuddhi = II. ~ Provides access to e-resources to Universities and Colleges
D. FOSSEE / v, Plagiarism checking initiative aimed to ensure ornginality i

academic writings
qt- 18 A qeir-11 %1 e #if
-1 HE1-11

( fefszeuge ) (3893 )
A ¥ fay L, R fereaferer 4 v fawd 3 s w9 e s g
B. i T v B w39 0E e e
|
D TURMUAUAEE A\ mﬁﬁfﬁﬁfﬁmﬁmm%mh af

I U T ¥ e
Choose the correct answer from the options given below :

ﬂiﬁqwfaﬂﬁﬁwﬂmmwuﬂfﬂ: ‘
A-IV, B-II1, C-1, D-I (@ AILB-LCIV, Do

@) A-LBICIILDIV (4) ANLBIV.CHL D
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When communication helps a group to achieve its goals, it is known as

(1) Discuplivesole J2y  Promotive role

() Counteractive rote (4)  Devotional role

7 gan fadt aqw # uﬁanﬁfﬁmﬁﬁﬁmﬁmtﬁnﬂhﬁﬂﬁfmwﬂmmt?

) famee v (2) (Haew i

@)  wiafwas sjfum () S v
. - distance
Speed of a boat in still water is 5 km/hr and the speed Of the stream 15 1 km/ h.rl. A man r::; toa pi:‘lﬂ;t:t: e
of 24 km and comes back to the starting point. Find thelotal ime taken by him. %4 — =
(1) Bhr (2) 10 hi 12 hr (4) 15 hr
oy e B Forct s = 1 5 Pl /s & i s A 1 fee, i # 1 o e 24 foRER, 1 o0 e w
7% w1a B § o i fEg @ amm amm &) 39F g feu T e ] A HI
1)y s8uA @) 0% (3) 129 (4) 1594
Which of the following are true about breeder reactors ?
A I'hey produce more fissile material than they consume
R I'here are no breeder reactors in India.
Ihere are two types (Fast and Slow) of breeder reactors.
D For breeding operation the conversion ratio (fissile material produced/ fissile material consumed) should
be more than one
E Breeder reactors produce more nuclear waste than the conventional one.
Choose the correct answer from the options given below
i~
4 A, Cand D only (2) ABandPonty
(3) -B-Candtonty (4) AC DandEonly

e froeed F A d e d A w A T

A 3 30vm T gorn | At e Al 3= w3 €

B uEAH FE yuaE fume 76 ¥

C v s 0K (F7 @ H2) F 34 8

D WWQWWEWMW;WWWﬁHﬂwﬁmmml
B sl fruged &1 qer | woes froeer sfies aifvsta sfone se= & 3

14 fou o fawed] d | Wl =90 #1999 Fifay .

(1) Wa.t'iﬁrn (2) FEAA,BND

(3) FEAB,C snE (4)  FEMA,C,D3E

Arrange the following in order of iy reasing conn i

A Fielder ’ '

B lave
C  Baseball Player D ﬂ:ﬂﬂyt'r
.. - - d E

ferfefaa i @5d T % #0 § wafem i

A FIEE (49 1) B e S N P
C  AqEid faerd D tade e
Choose the correct ﬁrl.'fh't'r from the options given below
At few o, faet # @ Wt 3w w1 v i '
(M BCAD B-BACD ) DBCA

Ay, (4} AJ C', B_ D
7
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23.

24,

26,

you are likely

: more variables,
When you try to predict the value of an outcome variable from one or
A the Pearson product- moment correlation

B. bivariate regression

C multivariate regression

D analysis of variance

Choose the correct answer from the options given below

(1) A,BandConly (2)...Band Conly
(3) B.CandD nnl;' @y“~ A and D only

T 319 U A T W @ 9 s O e S e S €, @ A9 T
A UEER TE- s geHEy

B. &= wiwms

C =g

D. wam favemm

A fEu v fawedi § 9 wf@t 35 71 99w Ffew

(1) FadA,B3RC 2) FEABERC
(3) @B, C3ND (4) FHEAA FRD

If a research project is set up so that everybody in the population of interest has an equal chance of being inclu
in the sample, the research involves :

(1)  quotasampling (2), . judgemental sampling

{3) ~ probability sampling (4) - convenience sampling

afz fel STEYm i 1 30 W Frf o S & o o wafe § 9 wers 51 ufesd § e 6
Faw foea €, @ sEue F fafes £

(1) Fr e (2) — TAvire wfaae

(3) wifEEa wio=aaq (4). - HfaarTF wfraam

Which of the following statement is correct 7

U+ Nydya syllogism has three propositions,

(2)  Nyiya syllogism has five terms,

(3) Nyaya syllogism has five propositions,

(4)  Nyadya syllogism has three propositions and three terms.
frefeiEs #e 4 A % m wue wd 82

(1) A § 99 wfrafea) i §)

(2) SR-AEETE  qfe gz w6 E )

(3) =Am-wrEE d e wfeafedd g g

(4) =ma-=rEE § i ufferdt s dm v en

Which technology first marked a separation betwegn transportation and
F U Cco

(3 Telegraph (2)  Projection ' (3) Prh‘lhug ~Nmunication ?
= d A few dreifirs 3 mﬂﬁiﬁtﬂﬂmmm N fafin -~ (4) Photography
(1 ™ (2) Wy @) Tz we




h
ree (Honours/Researe

NCTT), after obtaining Bachelor's Deg

: work (
sccording to National € rodit Framewor .
wars, the credit level garned is ;
= . ot () AT

programme duration of four

Engineering) of a
oty Wz Faak (T 2 TE) ¥ san A A srafy @ Wroe w1 EAE
-aﬁqﬂffmmmirw:qmvﬂmmmnﬁﬁmﬁz h
: @ 7

(1) - (2) b A3 6.5
. t in terms
: . ) 1 slowest to fastes
Identify the correct order of the following list of computer compare nts ranked fron

D Optical Drive

mﬁmmfsﬁaﬂv{ﬁ#uﬂﬁﬁf"ﬂf

access hme,
( ] B

A CPLU cac he B RAM .
Ty Ta & Hed ¥ wad uie | e A F W gES HZehl

- D. Tffzahe 2159

A g EF B. W C WS
Choose the correct answer from the options given below
13 Ferw w0 el 3 A WE IR H AT HI9
: . X - . % A B
(1) D.C.B, A (2) A.B.C.D (3) B, A, D, (4) S0t
W
Mind to mind’ communication involves the communication of meanings through
4 Physical settings B Shared beliefs C Values
Noise manipulation E. Context
Choose the correct answer from the options given below:
(1) A, Bandbonly- (2) B,CandDaonly
(3} A, B, Cand E only (4) & DandEonly
e B T T e H A ¥ e | SR saus e g7
e fE=mg B. TTET ST (i qed
Vit 1 BT E. Hey
Tafeumfarid | et 3T &1 991 FI0 ;
(1) a7 A, B 3D (2) EB,C#HRD
(3) Fad A, B,C 3RE @)  FFAC,D IANE
Which of the following are the subdivisions of Implicit (Unconscious) memory ? € 1 C o~
. X a t : re
A Priming B Episodic Memory -
( Classical conditioning effects D semantic Memonry
I Procedural Memory .
k]hm *HLHI-- ;11ml appropriate answer from the options given below
) and D only .
X | Lj‘- (2) A,B,DandE only
il : -
iy (4) A BCDandE

Freafiam % s (S790) T (300) % v §3
A yrefEm I
ﬁ | B ST (T
C T STETA 99 D s wf | ol
£ wdfatvE mi X

ﬁmmﬁwﬁﬁﬁmﬁmwaﬁwﬁm

(1) Wﬁml.‘ (2) ﬁABDSﬁ'{E
(3) #ae A,C3HE o

) C 3 E () AB,CD3RE

9
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tions of the following:

¢ : i ﬂn1m{'n{|d
31.  Thesecond five year plan for implementahon included the rec

A.  University Education Commission
B. Languages Commission of India F N | ;
C  Rural Higher Education Committee T

D Committee on Establishment of New Universities

E Three-Year Degree Course Commuttee

Choose the correct answer from the options givén below :

(1) A BandCeonly (2)"y B,CandDonly

(3) C.DandEonly

B. MM W ATAT
C. T I3 feen wimfE
D. 7 favafauedl i s Ja4 [t
E f3-=d feift wewswa wfafa
919 fou m fasesi | 2 | I = 999 FA0
(1) FaAAB3RC () EEB,C 3D
@) #aEC,D3IRE 4) FEEA,BHIE
32. Which of the following statements A-D abouteamputer memory size is/ are true ?
A 25KBis larger than 100 MB B. . 999 MB is larger than 50 GB. l: ”l_ L.'h
C 3500 KB is smaller than 2 GB. D, 2350 bytes is smaller than 2 KB, e
Choose the correct answer from the options given below : :
(1) Aonly 2} Conly (3) BandDonly (4) -BandConty
F2JeT THI AR & a1 H A-D F FefiEa s 8 8 s /8 w8 8/ 2
A 25KB, 100 MB | 9%1 7 & | B. 999 MB, 50 GB ¥ 721 Bla1 &
C 3500 KB, 2GB ¥ 3121 g1 2| D. 2350 9182, 2 KB B 9121 21 &
1 g o e 4 4wl 3 0 o
G ¥4 R C @) FEBMD @) FaWBakC

33. Which of the following statements is 1ugImIIf ‘quiv
y Ll.lulhllt'nl to the state ” '
— ment - “No horses ;

feline” ? .
(1) Nofelines are horses. @y 'I‘:J.u K b
{3} All non-horses are felines. ["‘l} All non- fl‘lin{.:: :{I:I'li,‘.1 ﬂ 1
“mrg it wrE T T £ : rses, '
ﬁﬂhhﬂﬂﬁaﬁammanﬁmmnmm#m“ -
(1) W o farem v A § o W‘“‘W*‘h-fﬁmmtl
@ ®f - faem @) W o iy

) i o

h‘



37,

39,

r
ammission in [ndia

y " " . i«
Which of the follow ing is the first Post-Independence s ducation

3 I”T”L,i,,il:'lll
(2)  Calcutta University Cor

(1) Indian Education Commission
Commission

ﬁ}*'-ri—m“"""’"’? Education Commission (3)  Indian Universities

WA W1 T Wi % wvam yeen fown A fretafen § @ 59 @S

(1) st foen smam (2)  wETEwA fargafaremerd AT

(3 Tevafamera foan smim @y, | sy favafamera AT

- < | iImprove 'L'ﬁ'it.hplfﬂ ]
Knowing that you find algebra more difficult than your sister does, but that you could imp
example of : :
(4) Automabon

E_:!f" “Self-Regulation  (2)  Metacognition (3) Self-discipline

T I o ST, 9 W e A A arfvies A e & R 36 9 AT | G BT

a% frafafes 4 39 feas s=po 29
(1) =m-FEee @) &fg-"9m (3)  STH-FAGEA (4)

Y]

Match List - I with List-11.

List -1 List- 11
(Types of toxicants) (Affected Organ)
A Nephrotoxic L Lungs
B. Hematotoxic I Kidney
C Pulmonotoxic M. Liver
D Hepatotoxic V-~ Blood

-1 % =1 gei-11 1 e Fife
Heit-1 -1
( snfamraat =1 g ) ( wwfae i )

v E® M, o

(L IEICIE D \VARE £
Choose the correct answer from the options given below -
=4 feu 7o fawedt | @ Bl I mmaﬁﬁﬂi_i.._

A TwRTEE

B. tWEREE L g%
A :

D,

W AILBIV,CL D ‘:g & ALEWY,Cop
(3)  A-LBLC-IL DIV (4) A-[ll.!ivl.t‘-w‘“‘u
12




Match List - I with List - 11

List-1 List-11
(Goals / Targets of MDGs and SDGs) (Number of Goals/ Targets)

A Goals in Millenium Development Goals e 1 B

B Targets in Millenium Development Goa l&;\_éla‘.ll. 17

C Goals in Sustainable Development Goals < p o 21

D. largets in Sustainable Dt?\'t'h‘l“‘lll:l'-t‘nt[;t_!ﬂl'w'- ___.——'-} Iv. 169

qeit-1 3 He get-11 1 faer i /7
i1 geit-1l
(£ i 3w S e/ Ee) ( ra /et @t 9 )

A weE fawm v (iew) # 9 () 1~ 8

B weard fawm wig (o) H Aed (TRZ) I

C wea fae 2 (ied) ® 2E (M) . 21

D daa fawm & (Tireg ) | @8 (TR) v, 169

Choose the correct answer from the options given below :
3 fon o el B A WE IR T B :

(1)  A-LBJLCHLD-V 2 ALBILCILDIV
3)  A-I B, C-IV,D-II @) A-V,BII,C1 DI
Arrange the different stages inv olved in the process of deduction in correct sequence.
A Revision of theory B. Hypothesis confirmed or rejected
C Findings D. Data Collection
Wmmﬁmﬁfﬁmmmm Wﬁmﬁ%ﬁm:
A Togia @ gAdE 5 qEEE 1 g a1 S o
c  ftom (frepd) D. SEH{(ET) HHRe
Choose the correct answer from the options given below :
qﬁﬁu,anawﬁﬁﬂnﬁmmwﬁﬁn:
1) A,BD,C @ D,CBA 3) ACBD 4y~ B,D,AC
Match List - I with List-1I.

List-1 List-11

(Concept) (Source)
A Free commerce and com munication L Alfred Marshall
B. Communication in @ConOmics 1L John Locke
C Language asa conduit of communication WL Karl Marx
D Lines of communication IV~ Adam Smith

elt-1 3 a9 et~ 11 1 e Fi
geit-1 HEi-11

( HeEheaT ) (&)
A wEA AR S HER 1 TR WA
B e | HEn i ) saE
Cc e afew & ¥4 0 9 m ) = wE
D. Wﬂﬂm';’f Iv. usHfmy

Choose the correct answer from the options given below :
3 ferq o famed ® @ WA 39 F T Fifw
(1) A-LBILCIV, D-1I (2)

() A B, CEDA A-IL B, C-1V, D
& % (4)  AVBLCH D

13
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43.  Identify the correct sequence of the following research organisations according to their year |
A Indian Council of Social Science Research (ICS5R)
B National Council for Rural Institutes (NCRI)

C  Indian Council for Philosophical Research (ICPK)

L. Indian Council for Historical Research (ICHR)

E. Indian Institute of Advanced Studies (IIAS)

et spwvm et 553 wone ad ¥ sen @@ sgwd 1t F

A NEr Sl faee s it (e | um T an)

B. T Ui S ufieg (o 9R o)

C Wi 99 srwym gfteg (3w 5 ot am)

D. R fefas sqEur sitee (a8 o v am)

E  WRAE 353 S0 e (o o U ue)

Choose the correct answer from the options given below :
ﬁﬁqmﬁﬂmﬂﬁﬂ‘aﬂmmmﬁm:

() ADEBC (2) BECDA (E]/ E,A,D,C,B 4 CBAED

~ #4. Match List - I with List- II.
5 List - 1 List - I1
(Words) (Codes with same rule)

—qN 0 &
S\F C g

FgND
R & K C
Y o 2

) @/ A-[I.B-[I],[j_w' Do

@ AWVBLCy by,



ad the following passage and answer the questions : (46 -50)
yccording to a World Health Organization report, nhuu‘ﬁl‘ll percent of the
dicine systems in some or the other way (ind ia has a distinchye and unique fradytional To -
stem having its own ancient pluin-mphl-._ medic |_|m| knowledge, perception and practipes atalignx ith the 'r!"“m'
Jtures, traditions and beliefs) The Er-mhunnﬂ__nj_gwf syslgims in I|_1_T[_i§.;lm'lmllf_ﬁ urvids @ wﬂ‘ﬁ
ani, Siddha, Sowa Rigpa and M v which is knownagAyus All these systems were Srmulated, practise

d p-:'rii;fh-d in a continuunymuch before he advent off moder _I [_‘,"_._"I \ SCIeTICE. )
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In many countries of the w orld Jifiédi ﬁrpT‘ulrﬂ_Tﬁm ndlfraditional medicine is 0ne of the .mr:_-st means
. sing, i:glﬁ'}h:ﬂ.mbie methods.

achieve total healthcare coverage for the world populatios l1_ﬂlr_'|ﬂm_|_'n..'l1_l_£1|_1 Zhfe and economi :
o system of medicine can single-handed} address all health concerns, but fin integrative approac lncurp;_l;ih{\j
jtives of each can surely benefit mankind.) The holistic Mé{;}ﬁ}iﬁ}nd Tndividualised approa “h is thetr ad_t-rmﬂl'k
and enables ﬂ‘_f—'j_ﬁ"f['t_‘l’]'_‘ﬂllrf:-il ian pnrhmn_:-'in'p"tn design or customise treatment and lifesty

; This awareness combined with the increase in use of

—

traditional systems ] -
VICE 1IN order to ad hieve 1i'|d: il'l'rh“:"i Pﬂh'"‘u"l for i"-".'ll-["?iﬁﬂ. E ctic
aditional medicne has brought the svslems fo the fore. [ he diverse activities ranging from the pronaeEm of proph o

re to the management of disease and the effective implementation and integration of Ayush system to the p“hhc

althcare during 1h|_r*-.1.ri~l:-n_1}q_h_._1;-. ggr_me_rg;j_}lnhal attention to i‘k_.:.:usﬂp_f.iﬁtinu.. This has enabled the signing of the

r the establishment of Global Centre for Traditional Medicine (GCTM) ﬂ!_dﬂ’- nagar.
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%6, Choose the appropriate title for the passage
(1)  Allopathy 2 Holistic Healthcare
(3) Fu)’ﬂﬁ'lﬁh {4) Homeppathy

(1) U (2) HHY R TEVE

(3)  STgEE (4)  Ernied
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In many countries of the world, medical plurism is the ni

47.
(1) I'raditional systems of medicine are useless
(2) I'raditional systems of medicine befool the public h system of medicine can in no
(3) An integrative approach incorporating the positives i i

mankind. yncerns
- alth cond
[;D' No single system of medicinecan single-handedly address all h
fava & arve 2eil ¥ fafemia agerae A & i -
(1) hfm’]?ﬁi L LG T {],"'.,FH*:I‘ f:ﬁthlh'_ Al
(20 fafesn +1 grofts gefima s g 249 § el
" » . B T r11f$1ﬁ1[r§|lﬂmqqa
@) fafEs = v ugfa % gwrmes yall 4 79 gaEereEs 290
V=1 Al €1
Y fuf TE Mt U vl At T TN @ sl FEn T8 F g 2

(4) Tafwew =1 26 Wi v ggf oot e w0wn @1 9%

48.  Which of the followi g tacts aboult the Ir.-uhlm-n;il Indian medicine systems are false ?
A Each system is U nique.
B. They include Ayurveda, Naturopathy, Yoga, Unani, Siddha, Sowa Rigpa and Homeopathy
C Modern Health Science preceded them.
D Each system has an essentially similar philosophy

Choose the most appropriate answer from the options given below :

(1) ABandBonmy (2) B and € only -.t-'ﬂfL and D only
WWW@TWEWHWHMTHHWI!W*

A WET upi fafme &

B. T sgds, Fiie, Im, e famn d@e frg AN Bt e
C i e fasm 3o g 8

D. % TEfa T deE: aue e

mhmmuﬂmmmmwﬁﬁn
FATABAND . (2) FAeBsiC (@) FEECIHRD () F9 B, C 3k D

(4) B, Cand D only

(1)

49. The Global centre for Traditional Medicine has been established in -
(1) World Health Organization ‘_[;]/ Jamnagar
(3) New Delhi .(4) Haridwar
et fefarem  Afvaes %= @ #afye gon &2
(1) fava e gre ( (2) S

(3) 2 faew 4) =fgn

50.  According to a World Health Organization report the percentage of the 1, ord Borulie
medicine systems in some way or the other is - POpulation that uses trg

(1) About20% (2)  About50% (3)  About 1004, U About
forem e W fd % iy fova e a0 e wfaom e of w0 5 mﬁwﬁﬁ;ﬁ:ﬁ
1

B?
(1) T 20% (2) T 50% 3)  F™m 004 4) = sox




